Boolean Algebra

- Basic mathematics for the study of logic design is **Boolean Algebra**
- Basic laws of Boolean Algebra will be implemented as switching devices called logic gates.
- Networks of Logic gates allow us to manipulate digital signals
 - Can perform numerical operations on digital signals such as addition, multiplication
 - Can perform translations from one binary code to another.

BR 8/99

Boolean Variables, Functions

- A boolean variable can take on two values
 Will use the values '0' and '1'
 Could just as easily use 'T', 'F or H.L or ON.OFF
- **Boolean operations** transform Boolean Variables. – Basic operations are NOT, AND, OR

BR 8/99

2

• We can make more complicated **Boolean Functions** from the basic boolean operations

NOT operation The NOT operation (or inverse, or complement operation) replaces a boolean value with its complement: 0' = 1 . 1' = 0Truth Table A' is read as NOT A or Complement A Y A 0 1 A' Inverter symbol 0 1 F(A) = A'boolean representation BR 8/99 3











Basic Theorems		
X + 0 = X	Duals $X * 1 = X$	
X + 1 = 1	X * 0 = 0	
X + X = X $(X')' = X$	X * X = X $(X')' = X$	
X + X' = 1	(X) = X X * X' = 0	
	BR 8/99	9



Proving a Theorem

How do we prove X + 0 = X is correct?

One way is to replace all boolean variables with values of '0', '1' and use basic operations: For X = 0, 0 + 0 = 0 For X = 1, 1 + 0 = 1

1 = 1

11

0 = 0

So, X + 0 = X is valid.

So, X + X' = 1 is valid.

Prove X + X' = 1For X = 0, 0 + (0)' = 1 F

or X = 0, $0 + (0)^{2} = 1$ For X = 1, $1 + (1)^{2} = 1$ 0 + 1 = 1 1 + 0 = 11 = 1 1 = 1

BR 8/99















Use Distributive Law for Multiplying Problem: Put into SOP form the following equation and simplify:	
(A + BC) $(A + D + E)Try just straightforward multiplication of terms:AA + AD + AE + ABC + BCD + BCE$	
Simplify $(AA = A)$: A + AD + AE + ABC + BCD + BCE Look for simplification via factoring: A(1 + D + E + BC) + BCD + BCE	
A(1) + BCD + BCE	
A+ BCD + BCE !!!!!!!! (Final SOP form)	
BR 8/99	19

















DeMorgan's Laws

DeMorgan's Laws provide an easy way to find the inverse of a boolean expression:

$$(X + Y)' = X' Y'$$

 $(XY)' = X' + Y'$

An easy way to remember this is that each TERM is complemented, and that ORs become ANDs; ANDs become ORs.

Easy to prove this via a truth table, see textbook.

BR 8/99

29

Applying DeMorgan's Law Apply DeMorgan's Law to a more complex expression: $(AB + C'D)' = (AB)'(C'D)'_{=}(A'+B')(C+D')$ Note that DeMorgan's law was applied twice. Another example: $[(A' + B)C']' = (A' + B)' + (C')'_{=}(A')'(B)' + C_{=}(AB' + C)$ BR 89



















